
Answer on Question #69956 – Chemistry – General Chemistry 

Question: 

A gold bullion dealer advertised a bar of pure gold for sale. The gold bar had a mass of 3300g and 
measured 2.00cm x 15.0 cm x 6.00cm. Was the bar pure gold? 

 

Solution: 

We can verify that by comparing the density of true gold (which is 19.3g/cm3 at room temperature) 
to the density of a bar. 

First, let’s compute the volume of a bar: 

𝑉𝑉 = 𝑎𝑎×𝑏𝑏×𝑐𝑐 = 2×15×6 = 180 (𝑐𝑐𝑚𝑚3). 

Second, let’s compute the density of a bar: 

𝜌𝜌 =
𝑚𝑚
𝑉𝑉

=
3300
180

≈ 18.33 �
𝑔𝑔
𝑐𝑐𝑚𝑚3�. 

This is much smaller than expected, the difference is almost 1g/cm3. Thus, we can conclude that the 
bar wasn’t of a pure gold. 

 

Answer: 

No. 
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